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3.2 cont. Simplifying nth Roots
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ex: Simplify. If no real value exists, write "nonreal."
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ex: Simplify. If no real value exists, write "nonreal."
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Simplifying_nth Roots Involving Variables

{/X( , ifniseven | 7]

\q/? X, ifnisodd

ex: Simplify. Use absolute value when necessary. - L
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ex: Simplify. Use absolute value when necessary.

o - (G = Wy




ex: Simplify. Use absolute value when necessary.
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ex: Simplify. Use absolute value when necessary.
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ex: Simplify. Use absolute value when necessary.

Dt = X7

o = XX



ex: Simplify. Use absolute value when necessary.
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ex: Simplify. Use absolute value when necessary.
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Review

Simplify.



Review
Simplify.
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Review

Between which two consecutive integers does the

expression lie?
ANy
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Review

Between which two consecutive integers does the

expression lie? \'b .
w2 =T






